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SH: METAYA

HE: OISNACRA(BBEE/MGHEE - 2F)

S IS&ds2 AIENE (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
24 AENH 873,062 939, 371 A 66,309

Xl 250,000
| 66,000
< 32,000
Al 525,062
HESRY Y= 2 SEMNEMS(EX) 220,000 227,818 NT,818
| 66,000
Al 154,000
401 Al&HI & 28I 220,000 227,818 A7,818
| 66,000
Al 154,000
01 A& HI 218,428 227,000 NB,572
O=% Alicl D&% ANEMNLAY
148,428,000& 14 148,428
| 45,000
Al 103,428
O &AMl 1A oIgdss DEESH
cIAlE FHl 70,000,000& =14 70,000
| 21,000
Al 49,000
03 AIE 2 0HHI 1,572 818 754
OH=XY H== =2d AIZ20
1,572,000& 14 1,572
OtE2&d=% AMEIA 296,062 396,422 A 100,360
401 Al Bl 28I 296,062 396,422 A 100,360
01 A& HI 295,000 395,000 A 100,000
Olts&=E RAE> & 2ASHE
50,000,000& » 14! 50,000
OltS2& 2% ==Xl & A (300 L)
80,000,000& =14 80,000
Olls&aZ 0IAIEAId A4 (2, 243
g) 50,000,000& =14 50,000
Olts&xs SE2els ASAEMEAY
5,000,000 *6IH 2 30,000
Olts&=+=% 3It2F Xots IS XA
2,000,000& 2000 = 40,000
o4&l Jlgel Dtsd==% A
25,000,000& =14 25,000
OFREX =52l IS&4+E AIZd
20,000,000& =14 20,000
03 Al 2 0HHI 1,062 1,422 A 360
ObtsdxS E3 AL A2
295,000,000& *0.72/100%50%<& 2> 1,062
L2AZETAE HBAL(EX) 357,000 315,131 41,869
Xl 250,000
< 32,000
Al 75,000




SH: METAYA
HE: OISNACRA(BBEE/MGHEE - 2F)
S IS&ds2 AIENE (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
401 Al I 28I 357,000 315,131 41,869
Xl 250,000
= 32,000
Al 75,000
01 A& HI 354,448 314,000 40,448
O=F &=31cl tsa=x AEMEAY
211,648,000& 14 211,648
Xl 150,000
= 19,200
Al 42,448
OJIAH Jtet1elel 3L Ots&d=E AIZIH A At
o 142,800,000& 14! 142,800
Xl 100,000
< 12,800
Al 30,000
03 AIE 2 0H bl 2,552 1,131 1,421
OAFRE =T AEMNSAY AER2YI
2,552,000 » 14! 2,552




